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CBT Sample assessment model answers

Advanced Bookkeeping (AVBK)

Sample assessment 1

Task 1  (21 marks)
[image: image2.png](a) For the year ended 31 March 20X7, record the following in the extract from the non-current assets
register below:
« Any acquisitions of non-current assets.
« Any disposals of non-current assets.
* Depreciation. (18 marks)





[image: image3.png]cription! Acquisition % Funding

rial number date method
Kitchen equipment

'Double-door freezer DDF4. 011044 1995.00 Part-exchange
Year end 311035 390,00 1596.00

Year end 311036 31020 1276.80

Year end 31103X7 25536 102144

Electic oven CS031 110406 5788.00 [Finance lease
Year end 311037 135760 543040

Computer equipment

Restaurant POS tablet bundle|  01/10/X4 1380.00 Hire purchase
Year end 311035 17250 1207.50

Year end 311036 345.00 86250

Year end 31103X7 34500 517.50

Deskiop DTC3, 011015 57984 Cash
Year end 311035 3624 54360
Year end 311036 14498 308,64





Task 1 (continued) 

[image: image4.png](b) Complete the following sentences.

Itis important to obain prior authorityfor capital expenditure in order

i crsurs e bisinss 25 s whol il beme o o praass v
The bank manager [would not nhemeanlﬂomale person to give this authority.

3 marks)




Task 2  (17 marks)
[image: image5.png](a) Calculate the depreciation charge for the year on the new vehicle.

e [z

Make entries in the accounts below for:
+ the acquisition of the new vehicle
+ the depreciation charge on the new vehicle. (12 marks)




[image: image6.png]Vehicles at cost

[Balance bid

46300)

[Balance cia.

12448

58748

Depreciation charges

viviv|[v]|

[Balance bid 7575 Proft orloss account %687]q]
[Vehicles accumuiated depreciation 2112] q
Kl

687 ESl

Vehicles accumulated depreciation

[Balance cia. 17262|Balance big 15150
[Pepreciation charges 2112]
17262] 17262|





Task 2 (continued)
[image: image7.png](b) Drag and drop the account names to the debit and credit columns to show where the entries for the
proceeds will be made. (2 marks)

Debit Credit
[Bank. [Disposals

Office equipment at cost

(c) Show the journal entries required to remove the original cost of the equipment from the general
ledger. (3 marks)

‘Amount

unt Debit  Credit

[pisposals

[office equipment at cost





Task 3  (19 marks)
[image: image8.png](a) Enter the figures given in the table below in the appropriate trial balance columns.

Do not enter zeros in unused column cells. Do not enter any figures as negatives.

Extract from the trial balance
as at 31 March 20X7

[vllvl[vl]v]

Accrued expenses 850 250)
Cartiage inwards 2240 2240
Discounts allowed 1420) 1420
Prepaidincome o7 o73|

(2 marks)





[image: image9.png](b) Calculate the value of the adjustment required for vehicle running expenses s at 31 March 20X7. (3 marks)

¢ [ro2

Update the vehicle running expenses account. Show clearly:
+ the cash book figure
« the year end adjustment
* the transfer to the statement of profit or loss for the year. 6 marks)

Vehicle running expenses

[Prepaid expenses (reversal) 840|Prepaid expenses 792|

[Bank 9468 [Proft or loss account 9516|

vilviiv]
ATAITA]

0308 0308
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Task 3 (continued) 
[image: image10.png](c) Complete the following statements: (2 marks)

The reversal of his accrual is dated [TApri 206 il

The reversal is onthe [debit [l side ofthe commission income account.

 The cash bookfor the year shows receipts for commission income of £42,805.
+ Commission 0f£1,950 for the month ended 31 March 20X7 was received into the bank on 15 April 20X7.

(d) Taking into account all the information you have, calculate the income for the year ended
31 March 20X7.

(3 marks)

e [s2805





[image: image11.png](€) Which of the following can you use in your explanation to her?
You must choose ONE answer for each row.

“The propristor of the business asked youto increase the
profitfor the year ended 31 March 20X7.

‘The transaction is an expense relevant to the period ended
31 March 20X7.

The figure is a current asset as at 31 March 20X7.

(3 marks)





Task 4  (23 marks)
[image: image12.png](a) Refer to the extract from the extended trial balance below. Calculate the value of the adjustment required. (2 marks)

e [ae





[image: image13.png](b) (i) Record this adjustment into the extract from the extended trial balance below.
(i) Make the following further adjustments. (14 marks)




[image: image14.png]Extract from the extended trial balance

‘Allowance for doubtiul debts 225| 48
‘Allowance for doubtful debts — adjustment ag|
Bank 2815

Imecoverable debts. 390)

Office expenses 116310 984
Plant at cost 25400) 900)
Plant accumulated depreciation 12250

Prepaid expenses 505| 450
Purchases 108265| 984
Purchases ledger control account 9622|

Rent 14800

Sales 188748

Sales expenses 8606|

‘Sales ledger control account 17900

‘Suspense as0|  o00]  aso)





Task 4  (continued)
[image: image15.png](c) Show the journal entries that will be required to close off the rent account for the financial year end
‘and select an appropriate narrative. (4 marks)

Journal

protrloss account 4500
Rent B

—

Farslrof oo yoar onded 1 Waran 20K o e proft r o sccout v





[image: image16.png](d) What should you and your manager do next, and why? Choose ONE.

Investigate the collectability of debts and delay completion of the accounts, as any adjustment could
affectthe outcome of the meeting.

Investigate the collectability of debts and delay completion of the accounts because the clientwill have
overstated the importance of the mesting.

Complete the accounts by the deadline without any further adjustment, as any change is unlikely to be
relevant to the meeting.

Complete the accounts by the deadiine without any further adjustment because the client's needs
musttake prioriy

(3 marks)





Task 5  (20 marks)
[image: image17.png](a) Use the following table to show the THREE items that should appear on the cash book side of the.
reconciliation. Enter only ONE figure for each line. Do not enter zeros in unused cells. 6 marks)

Adustment 3 2174

Adustments 200)

dustment s 42|





[image: image18.png](b) Which of the following statements about the net pay control account is TRUE? Choose ONE. (3 marks)

The net pay control account.

s a summary of memorandum accounts for each employee.

should have a balance of zero when all relevant entries have been correctly made.

will always be accurate when the bank reconciliation has been completed.

should include individual enies for gross pay due to each employee.





Task 5 (continued)
[image: image19.png]Extended trial balance

Statement of

financial

Ban 953 75 1033[q]
Capital 11000 11000[4]
Closing inventory o030 030 ERER <
Depreciation charges 3895| 3895| 4
Equipment at cost 20162 589) 19473 4
Equipment accumulated depreciation 15579) 18579
Interest paid ) 7 138 4
Loan 6565 1085] 54514
Office expenses 22435 o] 7e0| zzees N
Gpering mirtory o0se o058 M
Payroll expenses 20825| 20825 [«
Prepayments 0 0 M
Purchases o054 70454 N
Purchases ledger control account 13167 13167[4]
sales 125139 89 126624] 4
Sales ledger control account 16979) 16979 4
Suspense 600) 85| 1083 4
VAT 1129 11224
Prof/Toss for e year v 7ol 710 4
ol 43T 174531|  12554|  2sea| Taiaea| 1aiasa|  avaea|  47ae
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